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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5013143907 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who among the following are known for formulation of ‘Prescriptive rights’?
1206 70 eTAE 5500 STIED ) TS DS

Options :

Hobbes

_— ado) )

Locke

erS
2. %

Thomas Aquinas
Do 98 £°r

3. %
Anstole
larvdalal
4, %

Question Number : 2 Question Id : 5013143908 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who said that ‘Sovereignty 1s the most high perpetual Power’?

PO 52T T 000 @eh)End) T4 ted 38 @ TN 3

Options :

Jean Bodin

25 A4S
1.9

Machiavelll
ECHIO

I1.J. Rousseau

3. %



Thomas Hobbes
I aadtd adt2d )
4. % |

Question Number : 3 Question Id : 5013143909 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Sovereignty 1s more in nature of
D527 Bezs 28 5T S OEHS50 BT S0
Options :

Authority
295 Ge)

Power
58

Force
23035500

Consent
feged

Question Number : 4 Question Id : 5013143910 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

According to Bodin, which one of the followmg 1s not a feature of moderm state?

SEBS @DErcbseS 1808 TS e¢AE Tras e F 250 A

Options :
Absolute freedom
o, e e
1 DOTFQ L3

Autonomous Central Authority
2 A0 e RN BoIdd @S5 G

Superior to other associations
RS 0NN ) esHEsed



Defined territorial area

A5 e (2D 2E 1DTHSD

Question Number : 5 Question Id : 5013143911 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

According to Machiavelli the term *Virtu® denotes

LSO DSDB0D ‘HEY Virtu’ €6 DB BAD DO,
Options :

Stately qualities
Tr23 £ed MDEDa0EN

Manly qualities
a)Oaded DEDad0EN
2.

Leadership qualities

e 008ed £ Mepnen

Civie qualities
2 Moedsioen
4, %

Question Number : 6 Question Id : 5013143912 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following 1s Machiavelli’s view of human nature?

5570969 £527°695500 2 EADNE) @9 A

Options :

Optimistic

- 3T T 000

Cynical

- NBEES TS0

Critical
oo J75°e52E TN



Pessimistic

TP S0

Question Number : 7 Question Id : 5013143913 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
According to Hobbes , which one of the following 15 the most essential function of

government”?

53525 ) e @eD0B0D (2065 ta31 AZNE) A €910 DN o)

Options :

Providing minimum safety and security to individual

5¢88 Ea) 55 £9 0O 3| 5ed EO 0TI
1.¢

Providing freedom to individual

5 % 5550050 55360 501015880

Providing livelihood to individual

5550050 23S ard EO 075

Providing rights to individual
580050 S50 e O 107550

Question Number : 8 Question Id : 5013143914 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

According to John Locke. legitimate political power amounts to a form of:

2 7§ @d)rasne mriab ad Tredah 48
Options :
Consent

| % a2 €D

Trust

5502850
2. ¥

3. %



Authority

TR O IR
Power

58

4, ® -

Question Number : 9 Question Id : 5013143915 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s Rousseau’s view?

B0 IS’ EreF e9d)|aFradan
Options :
State 1s a political association

_— T3 sa50 2.8 TP 805 HoEs

Government 1s a sovereign executor of decisions

AQOITED €950 HET G 52770 12789630

State and civil society are separate

. 0723 o300 SBA5W PG Dadr2ad 2,863 525
3.

Liberal- Constitutional Sovereignty
GP0° — U2 5001ed a0 §27 7065 5l

Question Number : 10 Question Id : 5013143916 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following 1s not a precondition for realising Rousseau’s 1deal of

Popular Sovereignty?

AreF 3858 1027 E 52T SrOS TR, aPOCHE) 0N A8 SRA A
Options :

State should be relatively small
0723 20500 P 8 Sa3000 £)05) B &0BSB N

2. ¢



Existence of partial society in the state
T2 s50eS o7 8 & DaTeEsn GodSB

Unlimited workload of legislative assembly

3 % FRrOr0ed2350 @008068 HAIZTOSN 0T

Absolute equality of wealth or income.

4 % Q0DG BE SroDINS EDE VAT 550 SOBIBD

Question Number : 11 Question Id : 5013143917 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who stated that * political freedom 1s free only during the election of members of
Parliament?

il Ko e
FED0eN DD IV ES” ISP T°280D W)

Options :

I1.J. Roussean

flv-‘? E.a.fﬁj‘@ﬁ

John Locke
5 x RS

H.J. Laski

3 % . Bl €300

M.K. Gandhi

DB, Tod
4, %

Question Number : 12 Question Id : 5013143918 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What 15 the source of Rousseau’s positive view of liberty?
5T 0 AFEF 05°5ehE e98)ar0er050 srredn

Options:

Political Sovereignty

2805 AP {2 rOSESD



Political Authority
T2 809 eoBTH5W

Political legitimacy

_— orafah 9eaadied

Political Obligation

4 o223 805 25¢5e5e%

Question Number : 13 Question Id : 5013143919 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Utilitarianism was more a school of
a0 030° D P00 )50 2.5
Options :

Political Philosophy
T3 )ed ebed s )T s

Moral Philosophy

E@ﬁ éeﬁj o) T Oad)
2. v

Social Philosophy
o228 eded ¢ DT O0

Humane Philosophy

. STOEIOL ehed DT Gaad
4,

Question Number : 14 Question Id : 5013143920 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Utilitarianism as doetrine holds that individuals are:
EDO3rRed a3°C9a50 208 I ehadnl) B35S DT e9enE0EN0S
Options :

Rationally mnterested
R W B '«6} '«%
1 % o0E) DQ BOSSE



Rationally self-interested

® 52062 Eﬁ?&ﬁ ﬂ’:?ﬁééé

Reasonably mterested

- ared 238 V50D e308ehed

Reasonably self- interested

5
4% Seagired 29505 each8ehed

Question Number : 15 Question Id : 5013143921 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who stated that * In politics it 1s almost a triviality to say that public opinion now rules
the world’?

D2 E)EFODHHN 1HONOTT, D) B TEiosres et
953165 £ @e)eR0AR T A,

Options :

James Mall
| % 20)S

John Locke
2. ® 3315 f:'_'J_“E

J.S. Mill

2. . aO
3.¢

I.1. Roussean

Question Number : 16 Question Id : 5013143922 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

According to J.S. Mill utility must be grounded on the permanent interest of a man
DEND0E PO T4 165 @08 BTG T &HTPAched G0 BrR Z.on. S
29220 G

Options :
1. %



Rational bemng
EA A

Progressive being
8P
2. %

Economic being

e 0%
2w O

Political being

&
4% o280

Question Number : 17 Question Id : 5013143923 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

According to I.S. Mill the justification that society has for interfering with individual’s
freedom of action 1s to:

2.0, S SDEFOHANS 5:500 ) BAbeS Hdre S%:8 &) Hd

Options :

Do good to others

. 265050 0T DO
1.

Prevent harm to others

5 ¢ BBHO5 HVY AEB0AD

Support others
Qb OED DA Wad {50

Prevent freedom of others

=" o
4% @A VS JaD Sarcadian

Question Number : 18 Question Id : 5013143924 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following impulse that lies behind T.H. Green’s interpretation of
individual liberty?
€3. 25, (D 0958 R509) 27220000950 JeE Gd) (DOD DA



Options :
Ethical

oo
1w S98

Political

Social

3 % RN et

Economic
es0g

Question Number : 19 Question Id
Correct Marks : 1 Wrong Marks : 0

: 5013143925 Question Type : MCQ Option Shuffling : Yes

Which one of the following 1s not a main concept of equality identified with Western

Political Thought?

TFes T2 et AT K005 SPOBNE DTS : 279 DB

Options :

Foundational equality
o) @Eed DaTmAdED §o)

Equality of outcome
585 )68 IaTFr0ed 000

Equality of opportunity
EISTFE) JedTrled £l

Equality of convenience

4 FFEOE QadFeded S0

Question Number : 20 Question Id
Correct Marks : 1 Wrong Marks : 0

: 5013143926 Question Type : MCQ Option Shuffling : Yes



Which one of the following pair 1s incorrect?

1B0B 28065 HHTIS TS

Author Work
OTHoed OTHed
Options :
J.S. Ml - The subjection of women
2.000. aS A DPES 8 Gdw
1. %
Karl Marx - Manifesto of Equals
y 40 553, SrR R e S8y
2.
John Rawls - A Theory of Justice
- 2R T ) AASTE e 220
Ronald Dworkin - Taking rights seriously
. oS 080 £80R BT DB

Question Number : 21 Question Id : 5013143927 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What 1s the meaning of concept of ‘Eudaimonia’?

CINGTTLOS® 277900 Q0
Options :
Good life
a00T) 25a)ehoi)
1.4

Good state
sOT) T3 ol

Good society
SN0 AT

Good mdividual

4 % 00D Se8



Question Number : 22 Question Id : 5013143928 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who said that ‘the basis of a democratic state 1s liberty?
|eTar o208 TP g |aled D0 QL) 8963 T a)edty?
Options:

J.S. Mill
% BIR.DS

Aristotle

5 larvalinlal

I.J. Boussean

2.2 55F
3. %
J. Bentham
4% 2. Do

Question Number : 23 Question Id : 5013143929 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

According to Kautilya. what is the ultimate goal of government?
Te3e0:Q) 0)Ero0SNET (2065 ¢ 2908350 ©F 20 DO

Options :
Stability of

~

he system

Sl

]

w,
D:’E;}‘-}_‘}

-

I\pﬂ

e

Securnity of the State
TrasE 2I0ed

Weltare of the people
19220 HOT e

Power of the King
o2 G3wE) 48



Question Number : 24 Question Id : 5013143930 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What did Machiavelli strongly advocate
DEA0ID 595500 TEODNE
Options :

Monarchy

or22 6550

Aristocracy

L0 dareded

Oligarchy
€90 )23 05T

Republicanism

4 £a€b0|d a2

Question Number : 25 Question Id : 5013143931 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who stated that ‘the end of law should be to preserve and enlarge freedom?
2529 HBGE 3 OG5 NS D I Ao

Options :
JTohn Locke
oy e
1. v aion BF5

James Mill
B0 S

I.J. Rousseaun

4% 2.2, QOaF



Question Number : 26 Question Id : 5013143932 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

According to Montesquieu, which 1s the single greatest threat to the liberty of the citizen?

DR P59250 G5 IBE DB 0T STOTID),) S EFOHSINS B

Options :

Despotism
| @ QABH0Z0EES 100
Monarchy
T BE50
2. ®
Dictatorship
. LCDO(Eded L
Dynasty
H0FFE0HG 0
4. %

Question Number : 27 Question Id : 5013143933 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

According to Hegel human consciousness 1s:

NS )Zro0SNET S TedS eSO

Options :

A social process

| 8T 8D

A cultural process
2.8 P09 ed8 |11Bah

A political process
2.8 o°280% 1D18ah

A moral process
2.5 Te3f 980D
4, % :



Question Number : 28 Question Id : 5013143934 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

I.S. Mill’s pragmatic form of liberalism is tied to a principle of:
2.000.a00 e33O s GO NGDGBONN] T ehed)d

Options :

Absolute rights

ASDE FSopew
1. ®

Collective wellbeing
Haa) Fr50y,en

Inalienable rights

DBAADTR T 00

Individual wellbeing

4w S5£8 T 0w

Question Number : 29 Question Id : 5013143935 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following 1s not part of J.S. Mill’s three basic liberties?
2 B.00.500 0 STDE 2510 2rlSn TR0 OO

Options :

The liberty of thought of 1deas

] W
| w SO, 27D 5

The liberty to pursue one’s own tastes and pursuits

5 % 20&)SL0en OO N R LTI

The liberty of combination among individuals

3 % 55500 0ds Seromder 55)

The liberty of action and aggression
2585 s0BGM ArBoch 5

\".;;?

Question Number : 30 Question Id : 5013143936 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0

Who stated that ‘politics 1s war without bloodshed, while war 1s politics with bloodshed'?

8% 7 5ared A Traiairen, 8% e Nared ToaNE CNRHD O DELLE.

Options :

Lenin

Mao
ngs

Karl Marx
5°035). )

Kautilya
Tedersc

Question Number : 31 Question Id : 5013143937 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

According to Plato. justice 1s the quality of:

26 (D5PB5W, TPE0NNW DI TR K2
Options :

Society
QeaT"23630)

State

TP23 foald

Government

222063 e300

Individual

S8

4. o da



Question Number : 32 Question Id : 5013143938 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Whose contention 1s that * it 1s not the state that makes citizens just. but citizens that
make the state just’?

T72£a30 PO T7§0%0 Qa0 DOHED, TP T°2 530D m°§002E0
DAND 8 THODNE

Options :

Plato
B T
1.4 RO

Aristotle
08fe3S

Machiavells

DEcHBD)

M.K. Gandli
. E. Tod

Question Number : 33 Question Id : 5013143939 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

According to Plato, the true creator of the state 1s:
R (D508 TE23 2300 BN DTS Dyadd

Options :
Nature

Society
Pald"23e00)

Necessity
&304 ;56d



Question Number : 34 Question Id : 5013143940 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

“The right man in the right place and the best man 1n the highest place™, is the principle of
DO 568 HOPWS BP0 6 B eehrs)ed 558 e9edeBE ARSI e
Q€900 )08 HOOTHAD

Options:
Plato

Lo 26

Anstotle
O5FESS

Kautilya
5 e3engc

Machiavelli

, o DI

Question Number : 35 Question Id : 5013143941 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following is not a government which Aristotle talked of?
03 STErcia) |2heb 55w
Options :

Government by one

2,80 Teb | D255 1350

Government by many
5 % 5O OO T |HED 550

Government by few

@50e> Teb |Hehed 1o

Government b}’ natre

) 198 3 Ted 10206 LS



Question Number : 36 Question Id : 5013143942 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following is not a psychological factor that Aristotle didn’t include in
causes of revolutions?

DR SBETS 9BFES 23D TOHER) AR 0FS0 DA
Options :

Fear
EATOVIN WYY

Lowe of superiority
262 0O eodEseh

Honour

a0

Loss
cdatadnd
4. & .

Question Number : 37 Question Id : 5013143943 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Machiavelli 1s
EADD &)
Options :
An mdividualist

| @ 2,8 558 AT d

A statist
2.8 P50

A Traditionalist
2,8 2ol Trdd 0

A collectivist

2.8 DT d



Question Number : 38 Question Id : 5013143944 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

According to Machiavelli, the doctrine of power is related to the doctrine of necessity

and the doctrine of necessity linked with

DE0HHE) €98) 0NN F8 A ehed) €9699 35¢5 (530550 HOVOAODIA,

3254 2865 0 e90 B8 D00A0IA.

Options :

Life of monarch
o723 22 De5000580

1. %
Public good
e 251056580
2. % S
Security of state
- 120220 D08
Individual freedom
4. % :}Ei |¥_%O:(D-:'<J};‘|

Question Number : 39 Question Id : 5013143945 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following 1s not part of Machiavelli’s idea of mixed government?
DECHHD I (29206h £ 2796 237630 T
Options :

Best of Monarchy
| x SEITFSJS U208

Best of Democracy

A TSRS oBdaTed

2.
Best of Aristocracy
. €565 JED 00D (2T £a30 £a3)

4.+



Best of Oligarchy
G JTEE T &9 )22 0aT )

Question Number : 40 Question Id : 5013143946 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who saw the state as the greatest of all works of art?
'-_\"E W . L' L
22 2e30) @) $TEFrreXeS FIIBEGR T 5l
Options:
Enlightened man

7 5050528
1.¢ ¥ i

Mercantile man
5@-}85{53255}& B! j«i

Renai&s ance 111an
o3 5¢8

Capitalistic man
eDET0 558

Question Number : 41 Question Id : 5013143947 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Whose view 1s that law existed even before the emergence of state?

0723 20300950 2003 198 &5 B @)arcGS a8 DA?

Options :

B M. Maclver

&35, DS. IS
1.

Leon Duguit

L OIS cireeS

Immanuel Kant
3 % QIO 506



Henry Maine

4% TP a0

Question Number : 42 Question Id : 5013143948 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What 1s the basis of T.H. Green’s concept of Political Obligation?
e3. TS, 1N Tr280% 23°¢05eh 27750 |ared D8

Options :

Common mterest
| % rde edf

Common desire
oo 568
2. ®

Common authority

3 % P06 @050

Common Good

SO S0
4, &

Question Number : 43 Question Id : 5013143949 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

According to Rousseau the will of Individual will 1s:
G5 15957095500 8358 W) O
Options :

Actual wall
PRV W)

Particular will
1088 Q)

Real will
2 [



General will
285
4, ®

Question Number : 44 Question Id : 5013143950 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who studied the implications of sovereignty in the international sphere?
290$TE0%H 080T ard 12O S HBEFSTOR €9HEaH IS BIA

Options :
I1.J. Roussean
2.2, &rer
1. %
Voltaire
S5
2. % B
Hugo Grotius
S0 | Ao
3¢ Vo0 L
Immanuel Kant
. SRV WO B elon]
4,

Question Number : 45 Question Id : 5013143951 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

According to Gramsei, civil society embodies:
a0 19578500 PG DT 2290 o070 D0THIE
Options :

Structures of domination
@35aCE AT"EDadl)

Structures of consensus

23026 QAT edmen

Structures of legitimation

256) 22068 DTZEad0en
3.¥ h



Structures of obligation

4% 23700565 QTPZEIDNEN

Question Number : 46 Question Id : 5013143952 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

According to Hegel. state is based on
0O (295700 T°23£500 e355°Sa30 $DANE

Options :

Universal egoism
)4 52355°00 @905 Oed

Universal altruism

5 @ D 520 DB D5t

Universal Idealism
)3 £2207°00 @338 a7 Aed

Universal pacifism
DA £2250°0) P0IBT

Question Number : 47 Question Id : 5013143953 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Whose view 1s that a fixed territory is not as an essential aspect of state?
3365 DDF0 DA T°22¢ 8234958 903 TN @D D38 8 PCSa1

Options :
Karl Marx
| % 520 0

John Seeley

= 5,
TS VO
2. ¢

BE.M. Maclver

L @0 5. PSS



Mao
SrS

Question Number : 48 Question Id : 5013143954 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who defined that * a state 1s a human community that claims the monopoly of the
legitimate use oi;gh}'aical force within given territory?

Db IHTEINE” 5 2 2TBE 20 SHTFHATOIE ) FHHT Srasd
TR0 TP2520500 @) A S0

Options :
Max Weber

| a5y 2200

R.G. Gettle
esh. 22. a3

T. Skocpol
e3. ForS

Mussolini

ST IO

Question Number : 49 Question Id : 5013143955 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following is not part of intellectual foundation stones of
behaviouralism as enunciated by David Easton?

B S0 HIDV0DS DI TS DEIT OO 257850 5IE O 2
Options :

Quantification

HOITRES

Pure Science

HO Q0



Validation

SoNEde
3.¢ ¢

Values

P TV ENTBY)
4, %

Question Number : 50 Question Id : 5013143956 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following approaches to the study of politics aims at evolving
standard of right and wrong?

Tr28aire) AN 0D, T (HSTEFO HBETEBOTD GTFLAD
TN AR RTAINY

Options :

Legal approach

356 59 3¢53m
1. %

Philosophical approach

5 re3 8 98w

Institutional approach

SleLuFaR:RTa W

Behavioural approach
1938 aTed 5988w

Question Number : 51 Question Id : 5013143957 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who was the first thinker to argue for a stateless society?
A L' S '-'G W,
Tr22 2 0a7ed Dad77220000 §O50 TPA0D S JEHES &3¢S s oy
Options :

Karl Marx
520 5y )



William Godwin

QOO e 5D
2. ¢

P.J. Proudhon

2.5, B
3. %
Michael Bakunin
aD5PONO 22B0
4, %

Question Number : 52 Question Id : 5013143958 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In Marxism. historical materialism represents:

55757, ) 2506 0|55 2TBE TN [TBI L0 SFONIE BIE

Options:

Philosophical basis

- &°ed 18 [areda O3S

Historical basis
058 |aredn S5
2. ®

Scientific basis
FLROD FFSHOE5
3.¢

Cultural basis
20N, e |aredHOES
4, ®

Question Number : 53 Question Id : 5013143959 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

“All I know 1s that I am not a Marxist”, 1s the comment made by:
7750 BOVOAD Ted 5707, IR D TR T LAFLR0IR T

Options:

Friedrich Engels
|08 QoA )



Karl Marx

- 520 S5

M.K. Gandlu

. 2. B. rod
3.

B.R Ambedkar

4% $).e35. 02355

Question Number : 54 Question Id : 5013143960 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who defined 1deology as a ‘study of the process of forming ideas - science of ideas’?
T 0500 2770 ArdEer 165 1DE0HH 28 2796 T QT DS S0V

Options :

Francis Bacon

- RS EALS)

Karl Mannheim
5 % S°Q O30

Destute de Tracy
o, o =5 .5
- Bt & T

Andrew Hacker
ODO&TE o580
4. %

Question Number : 55 Question Id : 5013143961 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who explained the concept of legal justice as “law according to justice™?

IR LAV e WIEATN TN NV I T WIN VAT PO Ll e IR DU R AR W I I EnaTe T A TN T
Options:
John Rawls

_ 2T T



Robert Nozick
5 w Or2R B8

Ernest Barker

208 280
3 ¢ L

B.R Ambedkar

4% $).e35. 02355

Question Number : 56 Question Id : 5013143962 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

According to Kautilya’s Mandala theory, which state stays out of the conflict mn which

vijigishu state 1s involved?

T35 (560, D8N 2 T2 250 &) D00 &) T2 28 E0hC.

Options :

Madhyama state
SATCI £ T3 5od))

Mitra state

5 % 20| €3 T722 £2000

Udhasina state

3 ¢ SR T 235590

Arimitra state

4 % 290.00( €8 TP23 ol

Question Number : 57 Question Id : 5013143963 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following acts introduced communal electorate system in India?

2 L0 T30 0eHNE T D)8 230 (D% DRVEND

Options:
1.4



Indian Councils Act 1909
230ed Snocsene w36, 1909

Indian Councils Act 1892
5 % 2706 HOeNe HEHw, 1892

Indian Councils Act 1881

3 % 23O JD0ene i)W, 1881

Government of India Act 1919

238eb s00Chene LIEEM, 1919
4, ®

Question Number : 58 Question Id : 5013143964 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What was the August or Montague Declaration 1917 about?
&350 BE OTIR 10825 1917 B8 HoDOS0DNE

Options :

Responsible government in India
237565 B3063 237 5 ained (H20eb 523
1.+

Increase in functions of legislative councils

5 % T2 aOCHENE) G D0

Creation of office of High Commuissioner for India
2Seb 3 E0AND DA DB
3. %

Limited Franchise

DO S Szd

Question Number : 59 Question Id : 5013143965 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Whose view 1s that Government of India Act.1935” introduced on the stage the
provineial politician’?

238eh |20 £ 96N, 1935 |ZT0oeaD T2 80H TraHBA SHE D
DB TV e DErADDBSE

Options:

Granville Austin

o TS SO &89S

Morns Jones

, o SPOR ENSN

K.C. Wheare
A e

3. %

D.P. Khaitan

4% &.2. P&

Question Number : 60 Question Id : 5013143966 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who was the chairman of States committee in Constituent Assembly?

Trez 20l 13 D233 TFare E0e3 TS 5%

Options :

Vallabhbhai Patel
- SeerddH HTad

Pattabhi Sitaramayya

HEFH VT HADS
2. %

Jawaharlal Nehru

255570 erd JFv
3.¢ -

Sankarrao Deo
J0880rs &3>



Question Number : 61 Question Id : 5013143967 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

‘Swaraj must spring from the wishes of the people of India as expressed through their

freely chosen representatives’. whose view is this?

286 [Hze FOE® 5:858ed D1 100085300 HOTHERS (DB T o0

)80 UNOVIE DTS O )0,

Options :

M.K. Gandhi

v S, B, Tod

Bala Gangadhar Tilak
27y HoTrAS a3es§

Rabindranath Tagore

SDo|T5E Trird

Aurobindo

oS

Question Number : 62 Question Id : 5013143968 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which Lok Sabha continued for more than five years?
2060 D055 38500 833 8 ST EdarAcd 8 25
Options :

5% [ ok Sabha
055 58 H23

7% Lok Sabha
DS S8 SSEN]

69 ok Sabha

3 v B05 ST

8% T ok Sabha
AW S5 D2



Question Number : 63 Question Id : 5013143969 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who described democracy as a government in which everyone has a share?

1563 2,508 27HRF 120230000 (22565 §a0 (02T e300 @) B0

Options :

B.R. Ambedkar
2).e35. 2023855

Jawaharlal Nehru

2350 erd T oo

John Seely
S OO
3.¢

H.J. Lask:

0. B e

Question Number : 64 Question Id : 5013143970 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following committee recommended for the establishment of a
permanent Inter State Council?

24 265 905D — T°(a) DOCE) DT )ENSE) DG ) TRd

Options :

Rajamamnar Committee

L x OF 50656 E0e3
Anandpur Sahib Committee
- 350555 TS S0
Sarkaria Commission
TP 000 Sabedd
3.¢

Punchhi Commission

5708 EDAS



Question Number : 65 Question Id : 5013143971 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

National Commission for women was established in the year:
23°85¢h S0 EDAD S0 TN 0S5 1850
Options :

| % 1990

, % 1991

1992

1995
#®

Question Number : 66 Question Id : 5013143972 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which Lok Sabha didn’t have a Deputy Speaker?
D SE DS & DeHA B

Options :

15" Lok Sabha
| % 150 S8 028

16 Lok Sabha

, o 165 SE 529

17® 1ok Sabha

L x 170 ST

14 T ok Sabha

o ox 145 SERY

Question Number : 67 Question Id : 5013143973 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



The concept of congress System was introduced by:
SO 0955900 €963 279 3e |9T% DI
Options :

Paul brass

S 270

Rajini Kothan
S2:¢3 o6

Rasheeduddin Khan

X OS S

D.L.seths
B8, DS

Question Number : 68 Question Id : 5013143974 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following party had its member as Speaker in the Lok Sabha?

180B 0o ' D FOE ToOSTH S5 D25 W IEET dredy .

Options :
1. % CPI

> CPI (M)

5 % RSP

FB

Question Number : 69 Question Id : 5013143975 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following Article is not applicable to non-citizens n India?
25eh PeN AT 08 HB0TIA) [5G A

Options :
1. %



Article 21
158G easw 21

Article 2

v 4

L2550 23

Article 30
108520 30

Article 31
1585w 31

Question Number : 70 Question Id : 5013143976 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following 1s not included 1n fundamental right to freedom?

B0B TS D55 a5y @9 [BRHNE 5505 TEIDEIS
Options:

Speech
1 % o5

Education

o
2. % D0

Assembly

3 % DSFTEI0

Conscience

Question Number : 71 Question Id : 5013143977 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following amendment of Indian Constitution made directive
principles justiciable?
BTFE AFEPON 00PN T o T2 0N 006

Options :



25" amendment
2553 deadED

18™ amendment
1835 D3O

33" amendment
33e5 5B

51% amendment
5155 a0

Question Number : 72 Question Id : 5013143978 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which article of Indian Constitution talks of separation of judiciary from executive?

070 092030, FOEAT 23T 5530 AD0G B TOWEID (DTN (HESEI0
Options :

Article 50
185220 50

Article 49

198550 49
2. %
Article 42
W, e{ L¥
3 1285850 42
Article 41
W e{ w e
4 % (2050000 41

Question Number : 73 Question Id : 5013143979 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which category of Indian States did Hyderabad State belong to?
BPTETE T aledl) o) BEAD T aFerdd TOADSE.

Options:



Part A

Part B

2.v TR

Part C
5 2

Part D
o0 &

Question Number : 74 Question Id : 5013143980 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

How many items were there in Concurrent list of original Indian constitution?
r ] o oy L Fal
BN 28es Trer 000 Q) e G S ) e90Fadnen e,

Options :
1.¢ 4

333-15

58

Question Number : 75 Question Id : 5013143981 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which article of Indian Constitution gives residuary powers to Parliament?
o) (288250 FOT0LNE @IHFrOT YD Q).

Options:

Article 238

1998582500 238
1. %

2. ¢



Article 248
108 G50 248

Article 258
198G 50 258

Article 268

w 1208 G50 268

Question Number : 76 Question Id : 5013143982 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following is a Constitutional Commission?
o, - W LV o
Bod TS Trez 20l HOR A,
Options :

National Human Rights Commission
Is"'\l. LY o (i
2330 )PAdad) aT 507 Sadiedcd

National Commission for Women

2726305 02 EVAS

National Minorities Commuission
20D @) Hozrsd ST NS

National Backward Classes Commuission

i e300 BEGS SdKne EAasS

Question Number : 77 Question Id : 5013143983 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following fair is incorrect?

1B0& 22¢8¢T HDBTPAIA 46
Political Party State
or2s8a% i?r?g T kel
Options:

1. %



Apna Dal - Uttar Pradesh

o) S &SSO DT4
Hindustani Awam Morcha -  Bihar
, FOTS 3D 08 AN
Bharatiya Tribal Party - Jharkhand
2POB05H TS P =Q0&
3.¢
Jana Nayak Janta Party - Haryana
4w BV oS 200eh if"é T §ED

Question Number : 78 Question Id : 5013143984 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following pair 1s correct?

1508 TS HOTOS 2265

Regional Movement State
ErOaah (N O°| axO
Options :

Maru Pradesh - Rajasthan

& |HTH T
1.¢ )

Garoland - Nagaland
- mBerol oTrerod

Hmar State - Meghalaya
- 28 T°la0 DD

Mithila - Madhya Pradesh

EE S8 HTH
4, %

Question Number : 79 Question Id : 5013143985 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Which constitutional amendment act abolished seats for Anglo Indians in Parliament
and State legislatures?

65 W W ") ] ] 4 =]
A0S, T°a) FTom DO S0l R0GONA © T O T
e 500 Q0a308d Y0

Options :

101 amendment act
1013 03562 THEYA0

102 amendment act

1025 H35€2 58S

103 amendment act

- 10365 e30e2 LHESEW

104 amendment act
4 v 10485 D5Be2 TSN

Question Number : 80 Question Id : 5013143986 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Identify what 1s correct about Jyotibha Phule.

S seder o8 H020E0D HORE DA

Options:

He didn’t believe in benevolent British rule i India

2rOSTISNS BOHKE (DE3R TS 5B

1. %

He made it a rule to discuss politics in Satyashodhaksama;.

5w Qe 05225506 T72380% S 2.8 DS B e

He supported British government spending more money on higher education.

3 % E5cd) 65 OE 2 (IR (02065 ¢ 9B o550 eV

He did not reject the very idea of religion or Dharma.

) 3055300 BE 5B 2650 €96 27950 385,00 S D

Question Number : 81 Question Id : 5013143987 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0

‘It 1s not a grass roots democracy. it 1s a grass without roots’. was the comment of
which of the following commission?

122500730 DETYD §F g 528, SDBR gl Arf0d & Do
Ea0e3 A

Options :

G.V.K. Rao Commuittee

2 oS KTy
| @ 2.0).8. Tad Za0e3

C.H. Hanumantha Rao Commuttee
. oFeDeN0HT Y Sade3

G.M. Singhvi Committee

3 % 230000, 00D S0E3

Dandewala Commuittee

4w QOBTer Eel

Question Number : 82 Question Id : 5013143988 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following 1s not part of constitutional mandate of Panchayatraj
institutions under article 243G?

1995825500 243 28 @9cDABO0D) NDOTTONE T2 o) DOV T°27L0N DO SRE?

Options :

Schedule castes and Schedule tribes welfare

RETO Hoeren, DO Biier DOT sDSw

1. %

Environmental Protection

W, e o, o é
5 @ DGO HDOSE 2

Land protection and reforms

250°08 EarEHCa aNO0D WO
3. %

Industrial and vocational tramning

SPOIFE BA HIBHE BE £



Question Number : 83 Question Id : 5013143989 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

How many schedules are there in Indian constitution at the time of its commencement?

=

W, ~ 5 ] ”
T2 $0H00 832)e2). 00232060 DaDONAVE D)) S en Sere?

Options :
Eight

@ MO

Six

, & B

Twelve
3 & 0O plely

Ten
4. 33 ;}&'

Question Number : 84 Question Id : 5013143990 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following President of India had two terms of office?
BO 2P 2785 T RO HADS FSFASE?
Options :

S. Radha Krishnan
oad. U5l

Rajendra Prasad
20| 1S

K.R. Narayanan

3 % 33D, oo

R. Venkat Raman

4 x B0 J0ZEFHS

Question Number : 85 Question Id : 5013143991 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0

National Development Council was established in the year:
2705 2993590 2DOBHOD DEIBDD DOSESIHHN
Options :
| o 1957

, % 1955

1960

4 % 1948

Question Number : 86 Question Id : 5013143992 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The value of vote of member of parliament in the election to the office of the President

of India is calculated on the basis of principle of:

270 TN AR50 D0 HZDA SN DN BELO Q|

EngANNAL
Options :

Equality
RIS TR AN

Uniformity
&b £330

Parity
50

Proportionality
4 % QNS

Question Number : 87 Question Id : 5013143993 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following 1s correct with regard to office of Vice President of India?

DT 0 )ID8 NOO0HOD HOTNA TRA IO ?

Options :



He has no right to vote
v a0 v L ==
DS 2,820 DA FB0) B

He does not have a casting vote

QGOS8 (EDOR) Lew 550y DD

He 1s ex officio chairman of Rajya Sabha
072350029 o8) @3 B0

He 1s not a member of Rajya Sabha
TP23 8 023 e 3¢

Question Number : 88 Question Id : 5013143994 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

How many Delimitation commissions have been constituted so far?
D2 E T 230 5252300 EAED € R05IBY TR 0NN HOWE?

Options :

Six
esn

Four

e
2. ¥

Five

Three

S0I°CR)

Question Number : 89 Question Id : 5013143995 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which regional political party acted as a main opposition party in 8% Lok Sabha?

DADES 58NS’ D (2P0 O T8 1057 (9 HE S0 S539:FBODSE.

Options :
1. %



DMK
Goadard B

Samajwadi Party
oI 220 3G

Telugu Desam Party

L o B B0 70

Shiv Sena

Question Number : 90 Question Id : 5013143996 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

How many seats are reserved for Scheduled castes in Lok Sabha?

SE D235 BT Soererdd 8225 5 TOHBS AN HoWE?

Options:

Question Number : 91 Question Id : 5013143997 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which state has highest number of seats reserved for Scheduled tribes in Lok Sabha?

5% 52565 0e5sOE0N NAEPIS 2B 828 ¢ TODDGES 0 5 T 3e0?
Options:
Madhya Pradesh

TERE P
1.+ DI:'"—’.*:';‘ I.P‘jﬁg



Assam
a0

Maharashtra

3 % o)eT T gk

West Bengal

4% 3 e Bord

Question Number : 92 Question Id : 5013143998 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which part of the Constitution deals with citizenship?
2rOes £ad0 MDOO0D) DB 2378ed Tre o 23107
Options:

Part V
230 V

Part VI
5 % 200 VI

Part VIII
27e VIII

Part-11

23 Ooo00 11
4,

Question Number : 93 Question Id : 5013143999 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which article of Indian constitution defines state?
z b r v o o N
0723 Sa0e) 237065 T2 20000 @) o) (D85S0 RO F0THD?

Options :

| @ 12



Question Number : 94 Question Id : 5013144000 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following is not a type of regionalism identified by Iqbal Narain?
23436 0006 NB0DS FTFos e 2risw SA?

Options :

Supra state regionalism
T°(3T0 [FFO0DTEW

1. %
Sub State regionalism

, v GOTRF OB OHT IS0
Inter State regionalism

3 % @06 T 4) (203N

Intra State regionalism

4 % TlArosds ESRe I [N

Question Number : 95 Question Id : 5013144001 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who coined the term Constitutional morality?
T3 2009 Jedd 235 SrsdEe )ed Tadd ?

Options :
George Grote
v TR

Hegel
P e 1)

M.K.Gandhi

- . B. rod



B.R. Ambedkar

2).e3b. 023855
4. %

Question Number : 96 Question Id : 5013144002 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

According to Nehru economic democracy is nothing but
s g o
200aTD €S TeT0 2)[arCaN 308 (2270 £ fad) €9eDNE
Options :

Capitalism

20208 70 T

Socialism
AP Sa g TPCII0

Individualism
5£8 |13V a0

Liberalism
e (AR OTNE RPN

Question Number : 97 Question Id : 5013144003 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following is not a stage of Satyagraha as proposed by Mahatma
Gandhi?

e = 5. ] -
5053353 PO THINERH Hebg BT BiereS 2,563 SRA DAY

Options :

Negotiation
(RO RISV

Action
250¢

Preparation

SOSFd



Compensation

4 DTG0

Question Number : 98 Question Id : 5013144004 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following thinker 1s associated with Sharana Movement?
L o, = l"*E [

F560 €5 525050 H02208:501e eSS IaEdc 2

Options :

Narayana guru

OO0 DD

1. %
B.R. Ambedkar

5 % 2).e35. @023),56
Basava

3 & 2)0ded
Buddha

4 % DO

Question Number : 99 Question Id : 5013144005 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following 1s not a part of the Eightfold path of Buddhism?
200 9NN 7P €57 27NN TS ?
Options :

Right intention

HOTS GH L0

Right interest

OB esH8
2.¢

Right livelihood

- DO BRSSO

4. %



Right understanding

DO IS

Question Number : 100 Question Id : 5013144006 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who was the first Deputy Prime minister of India?

2red THe) BNES & (DT et ?

Options :
Y.B.Chavan
.80, T

WVallabhbhai Patel

=5
. SO2;ADL TS

Morarji Desai

- o BFc%H

Jagjivan Ram

4% ai}&‘)fﬁ TFadd





